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B.A. 5th semester (Honours) Examination, 20lg (CBCS)

Subject: Sanskrit

Paper : DSE-II

Time: 3 Hours FulI Marks: 60

The figures in the margin indicate fuil marks.
candidates are required to give their answers in their own words

as far as practicable.

T$TqisFq Grou,p A and Group B Efr tqqFr*i ffi 1 qerrf,: qteTrf}ilrr,
HlqelI{ilqr Hqrda q*i frr{rrt fff+ilq: | ftr{q qqrfrtqi HFIT: {riltzrT: r

q? d{"trq crouup A q<( Group n e? TF ft-stE <6{H r {amqlgt GRR.
KF ft-qrur< xc<r urffi-< q0s e$F RstE (q.T dtsfr. Es< ckz< r

Group A

(Elemenrs of Linguistics)

frcu-< a*efi_< \-(<j fl @w qxt7 arnr< Ev< qe-s sFt{ s m+qtrtfr frprc ffi.c{t s

(a) eer( €TFT[('|6gqs, (Hittite) _ qlqrqr: Hqt-i-ffi Fr<qFi nTq{i
l^ t't6grgg' - stxr< afi-{sr fi4,.f4 5ep6 qlR$o glr

(b) fqrfrTJr€rffi, fQ-gstfrq : 5-*: nrefuu. 6qufrq;1
'E+-Estqtq, - vmtcufifr< q1+r{E ft ** dN ffiRit r

'+Et' -t<f< wsufu qE B"f"if<m il{ ffiRit i

2x10=20

(a) $qo+drqR vqffi qsron'gcmdr fqsn+q r t-cetortc cq@ 
r

cwE< E"m ersr< qn+r q-+r{ s,nefr--< dlT cERItr EqRSqq<?, Elo?_< ccEs wss Dffi
TCq.< 4N G"RII I

(e) qnfi-qqrqqr ffi-ilq nT-+"ftqqfq-;etq cH flergrdrqr
ffi vrsrr ffi drft-{-sr <t'ace< il\ @Rnl

(0 riqn qrErqi Efr gtl€rqqi: qf{?
qwq{]r Nefr wqj <{q.rrqr

(g) qrffiqrqrw{ruri@r
vKGs s^r-]<rvi<-r< v=<elET {TT CEI<IT I

(h) {iqft n6qTqg5 rrf{q;i @?
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{Qrw qcx-mt{ KRTq ersls-sllT {c?
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tO {fqTql fst ae-fiqr - 'e{rf,qrfiq' (Albanian) t

q<frg FaR CIr=ff -. '311-q'rqrfrq' (Albanian) I

6 Ed-5otft - qTqrqi en trgrfc ffi{? ilfi ffi{ ftr€{<tql

'{<r-{$tffq' - slsftuifft< TnsE *.l* sTF Gq fr-fs? mefi--< iln C4Btt I

G) tfi tef{ffi?
q61a frt

Ol r{f,qqr ztfl drqfisr -- 'leTrfr s55a't

q<Fg B-o CIctlt - 'ffi qr{-d't

(m) m wagfo:?

q"repF frt
(n) o'qi {A-$tfiqqrqqrt 31itd t{rsr q<fqft?

?r<rQ stsl mF Em-?ffiftK elfl{r8r< xc<l qsufoz

(o) fr<rtrot edffis riu farwat1t

W-<qcq <"frq{tq-< c(G.l 6Rttl

z. eidlfifdeg wig z.gTi *r+rq fur<r1ltg vsqrffi dst - 
qrqqr 6ldlt

aru< ff$etr.{ *n *r grtr< EE< or=tl t tlK x<i nE cQs vl{x o.c<tt I

(a) rifq{qr - e'l-{-dqlql I

q<frs ?ro oc"fi - cltil+tql I

G) {a-ffi qnr{tl: aftrei foqatnt

Aqt-qdRK 
qa1-E t1ffi 6qril 1

(c) 6.t ff{-*Trsl? (HI: r{I$-4: frqrtn: ft1554q1

ft-s vm fir e? etsK ftquisft mc'tlt

(d) '+€rff{' qTqrql: aftiei fetqtr1t

'*erfr{' - vl{r< 6ffi 66tfi 1

(e) {fq{qr Mr trc-{ql - ift*'-sqsli: t

qsfrg Ffift 6t:il -- Ak6-3{Ed:l

(D d qrq qqi'rrq:? tq€{odzh Yiqlt

<dun fil qTF BrR<q 6c"itt

5yQ=20

1gy}:=24

3. e{dtrfdeg sq-{g cFlE"qqrqqql _ a*,
fiwFFtv arcfi< {c{i fl mdr rfu Es< CIc<ttt

(a)gdr-rsirtrqqiTqqRqEqAftEitfiq?{A-{siffiq1{rsqii*t3flEi-d+qt:l
am?8.fia*;,R.*" ?<FrB a, a*e*.*aT vmefi< cqfE@T{ qxrf,tE-{\ fl{t l

Ol tFq*'-df*,-d {qa,ir: cqnf<r: erteiq<qi1t

6fr4 s cfrfrs "q*u 
{c<i d<r{ 'tiqf+lefi 

qtrqlu-{'t sc-<t I
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(c) ficwt{Wi drqfloi qT@r{dr(t

AnK fifiW BqR<q{q <HI +c-<t r

(d) qq-6 gqs zt*l q,tqf 
r

R Rtdt nitr ft-ot oc*tt r

(i) qfrtr++q

{S-rr<l (Assimilation)

fiil qfrftFmq
qAfrRe (Epenthesis)

1ii1 {{ruk:
--__L
T-{-slg (Anaptycsis)

Group B

(Technique of Sanskrit Language)

l. e+flfrfitg w\ <vav-*: riqamw+r ffi f€iffiTs vqrtqr: : 2x10=20

frcu-< *asfi-< :t-c<i rv ow nfr ac$< Be.-< cqe vt<'H € cq-<-flrift frf}rc c{Rtt s

(a) S: '349ffi;' ge'{q U--aIg TSfu'dT?

'34q9;;qllsi aEfr< <ltot rcr
,91 F,cl '+Tg(dtq:' {fl'g T€I€T {+Ir sqq?

5; {tr6il '3aq'{-drs:kE scq< <DTt s-<t qmEqr

1c1 'jffigmsrq' - sls qrqsrej' mqrE$i cfdcr*dr{l
'ieq"traffi*rq'-q1 <f$rm< qqf mtqrq<"t qtrfllD-{t $[TtI

(d) 'ri6di sstrT' - sTt{ qr*{ tr yrf{r f4; trglsqrM?
'xiad} qqr-eR <tcrr{ qrfl mlq c+-rq -rq,efr-< ffic f, frq R{lrffi sctt <Et qc{(q?

(e) 'erdaifr ydl{qi gwrsi tfuh qe{' - ef,sr {eir{icrs ldqrerq: Hr(?
'erffd Tdrdqi gwTri tfufr gq('-qq dr$Iqr"m qqf frr

ro errsrsqr;ilHt qr<T{i T+FT: *-l ftrfrt Tqr(7
q'rqergjrlts -l-qrrfr{ erc-!'trf ml-d frcx qll

(g) 'qsail< CqITE: @cfl;'- slq {+{iqrg erei: ft[grfl'qr
's6qq ye'il-(: t-+en+tqrcrglrtrefl:k1 m+titF< qqf mc<[ r

(h) 'dBn?fr Bgr' - eiiq qr*{ f+ trgq scFffit? {qoqr
'(F{rS fig:LeE <tcsl mt{ Gq futr+< sqtt {Et qrl-R? q$E Bq-rsq cqc<ffr

(i) 6:'srrgqrd:'{ss }r.qg l-qtr-dt?

'wgvr-6r'-qtr erqB< <Dfrst ml
O crT-gcTa ffi rp6; qk? tsi Tr-qrf{ ftrcffir{l

$E"ffi oaE Eq qtqr ccefr-{ 4t-{ cE.Rn I

G; urgcra qft ei*'ru: f{flt? tqi aurtr ftrcqffql
{tp"lirb osF q+t-< qrcqr c{qfr-{ qiT cqcfi I
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(l) sl lisT qbqrISFqFT?

{{J{ 1S-CT< q(B] frr
(m) trlz.s1-frR: S(I gq?

flc_f,{R:-€K el[-{ttt +-{q q{ ?

(n) {gE-tlT-fr: fl{srErns tITgFqr: fergry<qt

{xn-otv= qoo;6r< qp*4cfr ffir*l
(o) {qq- effi: q.65I{g. t]Tg61ql.' fr1sryq1-s 1

nhtorVu #.oEEr< {lg-<4efr c*.oft t

2. srrii{freg w'{g 
"gqf 

w-*-qrg'ri ferq<Er fu:nqrsgtFrr fis+q{l 5x4=20

fous Otefr-.< n[q EFF qc{f< U\e< 6{CrttlEiK qc{]' EF qq\o vFlT 64c{tl

(a) qrqt HHi -
<ltarl sL<t -'uffi: rqfu*Aa qqrs$:t

sr{d: ffi ff,,+ vgroiafrffiql,'

1u) qrcry HEi -
<il?ul st<] -
'ct fqtlq fuq ff frter*rrc: t

ffi qTcfu$Tgnsil

qrqrqsflfrq: wrs: TTrS(E qqPfd: ll

(c) qrsr 6rqi -
<]1"[t s'KI -
' rsti-qrqt-&-fr r-f q-E-qrgt-fs-Ynt-{q : t

m-rruw-Q-&-q,ra-*cr-Ts-€fl : I I'

(oi {lqTqr M tsr - etufqqql

cft,g Faft cqr.n - eTerfqq(r

(e) gn fqfqflqv*n: Hr(?

ftRfrq cslL<-?t EGilE mt{ mr{ 6sc <l?

(0 cdr<1 3rr€iwi W: r{a tr<r6{ur{ onfrqdr{l

"rfrq"pr tqqi \flsfn'fr dA EE< qgt 6cw5"t qtGflDil n.C<I l

10x2--203. ereirFTRg Y{-t5 qFTpsqlqqlr

ffiRs erqefi-< Tc{I c{ mlrqt EFr Ee< c-Rttt ''
(a) vas5aH dEtT{t-?r 6$F mf{ {ffi afiq q{ el'ql qlG1tFl $13t I

G) qq-{rsF dET{TLA c+.l;{ c$F 'lrs qtwF Gq'ql uQ qlcaflffi +Lqt I

tcl &<rVa fl6 Estffi mt 6ERII I

(d) {u.f-qy< qtF qs'r6{< met rqrtt t


